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What We'll Discuss
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Need for Oscillators

e Communication Systems

e Control signal
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Wein Bridge Oscillator
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Mechanism of Start of Oscillation 'S

e The feedback network
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Wein Bridge Oscillator S

* The lead-lag network provides
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Frequency of Oscillation s
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Problem-| Rt

In an RC phase shift oscillator, if R, = R, = Ry =200 kQ and C; = C; = C; = 100 pF. Find the frequency
of oscillations.
The frequency of an RC phase shift oscillator is given by
: 1
) P ——
2TRCNG
l
27 % 200 % 10* x 100 x 10726

= 3.248 kHz
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Problem-I| -~ o

In a Wien-bridge oscillator, if the value of R is 100 k€2, and frequency of oscillation is 10 kHz, find the value
of capacitor C.

Solution The operating frequency of a Wien-bridge oscillator 1s given by
T
."ru T g | Y
2nR(
Therefore, C=3 : _
2nRJ,
I

= ; -= 159 pF
2 x 100 x 107 x 10 x 10
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Frequency of Oscillation S

* For calculating the frequency of oscillation Equate the imaginary part of the basic equation

to zero

fU” !‘I + f,:, +2M ] | = ()

.o, 1
}‘“ —. — : :
02r 2p\(L,+ L, +2M) (
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Assessment 1 =)’ &

Determine the frequency of oscillations when a RC phase-shift oscillator has R = 10 k2, C = 0.01 uF and
R = 2.2 kS Also, find the minimum current gain needed for this purpose.
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Electronic Devices and Circuits By Salivahanan
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THANK YOU

18.12.23 19EET202/AE /S.SHARMILA / AP/EEE




